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How to treat a PD that isn’t classed properly.

Quick Summary: PSE treat PD as class 0 or Class 4 if Type 2 
PSE if fails to classify
ACCEPT

Title on top will define what sub-bucket comment group refers to.

Treat PD as a Class 0 or Class 4 if Type 2 PSE if 
fails to classify
ACCEPT

p12

Generally agreed for a Type 
1 PSE to treat as class 0 
and Type 2 PSE to treat as 
Class 4.
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Treat PD with too much class current as Class 0 (Type 
1 PSE) or Class 4 (Type 2 PSE).  
ACCEPT WITH MODIFICATION
“…Table 33-4a, a Type 1 PSE shall classify the PD as a 
Class 0 and a Type 2 PSE shall Classify as a Class 4 
PD.

If PD is Class 4 on 1st Finger, what does Type 2 DLL 
PSE treat it as?
NEED TO DISCUSS IN AD HOC

Clarifying text: If PD doesn’t provide physical or DLL class, 
treat it as class 0.
Ad hoc group generally desires to treat any PD that does not 
provide class as a Class 0 (Type 1 PSE) or Class 4 (Type 2 
PSE).
We ask Wael to if it is OK to modify proposed response.

If DLL communication lost, treat as last negotiated power 
level.  NEED TO DISCUSS IN AD HOC.

Doesn’t like table 33-3 stating Class 4 is 36W.
Discuss in ad hoc
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Rewrite PD intro section and state Layer 1 OR Layer 2

Must a Type 2 PSE using LLDP perform 1-finger 
(layer 1) classification?

Change text to allow PSE L2 only.

p17

p17

p19
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PSE doesn’t need to do layer 1 class.

PSE doesn’t have to do Layer 1 class.

PSE MUST do layer 1 classification.
PSE doesn’t have to do layer 1 class.
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PSE doesn’t have to do layer 1 class.

PSE doesn’t have to do layer 1 class.

PSE doesn’t have to do layer 1 class.

We need a vote 
in the room to 
decide if PSE 
can drop 
requirement for 
layer 1 class.
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Re-write 33.2.7 as intro.
Wael, would you accept Martins’s 49 as baseline?

Rewrite  33.2.7 as intro to PDs

Re-write 33.2.7
AD HOC, OK TO USE THIS WRITE UP AS  A 
BASELINE?
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Miscellaneous

PD requirement in PSE section.
This will be addressed in next revision.
Martin, OK to withdraw comment?

Remove Usage column from table 33-3
OK with AD HOC?

PD can not use more power than it asks for in 
layer 1 classification.
WE WILL NEED A VOTE IN THE ROOM ON THIS.

Asking Fred to clarify what he is trying to 
accomplish.
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PD will stay under 13W until L2 Classification.
Overtaken by events.  See comment 29
This section is removed or rewritten

Confusing text
AD HOC, OK TO USE DAVID’S TEXT AS A 
BASELINE?
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CONFUSING TEXT 3.4  p38

Confusing-rewrite section.:
SEE 51.

Text is unclear.  Point out PD must stay under 13W 
until Layer 2.
AD HOC, OK TO USE THIS TEXT AS BASELINE TO 
UPDATE SECTION ALONG WITH WAEL 238 BASED 
ON VOTE IF TYPE 2 PSE MUST DO LAYER 1?

Section is unclear.  Rewrite.
WAEL: OK TO USE MARTINS #51 AS BASELINE 
AND YOU WITHDRAWAL?



10

During 2-event class, PSE can’t drop voltage.
Accepted but drop last 2 lines.

PSE can’t drop voltage during class.
Withdrawn in support of 132

PSE voltage during class


